Cross section (barns)

ENDF/B-V SE-82
Principal cross sections

[N
o
N
I

=
o
=
I

[

o
o
I

— total
absorption
elastic

|

107 10° 10° 10* 102 10% 10%

Energy (MeV)




ENDF/B-V SE-82

resonance total cross section

= = = =
o @) o @)
II—‘ o = N

Cross section (barns)

|
ol
N

— total

|
o|
w

Energy (MeV)

|
o|
N




Cross section (barns)

ENDF/B-V SE-82

resonance total cross section

2
L0 4 — total

|

o
=
I

=

o
(@)
I

|

OI
[N
I

|

ol
N
I

|
o LLll
N

Energy (MeV)

|
o|
=




ENDF/B-V SE-82
resonance absorption cross sections
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Damage (MeV-barns)
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Threshold reactions
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